Reflection & Refraction

=) Multiple Choice Questions (MCQs)

1.
Ifat
rayv
(ad
tb)

(c)

A ray of light is incident on a concave mirror.

1= Tl.-n-.\llol to the principal axis, the reflected
W

Pass through the focus

pPass through the centre of curvature
Pass through the pole

(d) retrace its path.

2. Choose the wrong statement.

a) ..-\ concave mirror can form a magnified real
image.

(b) A concave mirror can form a magnified virtual
image.

(¢) Aconvex mirror can form a diminished virtual
image.

(d) A convex mirror can form a diminished real
image.

!31. A person standing in front of a mirror finds

is

image thinner but with normal height. This

implies that the mirror is

a)

convex and cylindrical with axis vertical

(b) convex and cylindrical with axis horizontal
(c) convex and spherical

d)
4q.

concave and spherical.

At what distance from a concave mirror of focal

length 10 ecm must an object be placed in order that

an image double its size may be obtained?
(a) Either 5 cm or 15 ecm

(b)) 10 em

(c) 5 cm (d) 15 cm

5. /= — is valid

(a)
(b)
(c)
d)

6.

for convex mirrors but not for concave mirrors
for concave mirrors but not for convex mirrors
for both convex and concave mirrors
neither for convex mirrors not for concave
mirrors.

A ray of light passes from a medium A to

another medium B. No bending of light occurs
if the ray of light hits the boundary of medium
B at an angle of

(a) O° (b) 45°
(c) 90° (d) 120-°

o object is at a distance of 10 cm from 19.
13. ’-A':-or and the image of the object is at a len
g mir e of 30 cm from the mirror on the same
diswnscthe object. Then the nature of the mirror

e :

Sld: its focal length is .

an avex, 15 ¢m (b) concave, 1.5 ¢cm

(a) co (d) concave, 7.5 cm

(c)

14. In th
rectangu
incidence an

(a) e=1

a

o

(c)

convex, 7.5 cm

e case of refraction of light from
lar glass slab, if i be the angle of
d e be the angle of emergence, then
(b) e<z (a)

)7

AN

(€<)) (

7T = o

n

11—
n

(1_;_2) ! (c)

16. A ray of light travelling in air is incident on
the plane of a transparent medium. The angle

of in t
Find the refractive index of the medium.

(a) 2

(e)

cident is 45° and that of refraction is 30°. -

1

J2
@ 2

(b)

1

17. Match the column I with column II and se_lect
the correct answer by choosing an appropriate
option.

Column I

sin i/sin r = constant

Column II
1. Refractive index

P. g
of the medium

(a)
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7. To form animage twice the size of the obj
using a convex lens of focal length 20 cm,
object distance must be

(a) < 20 cm

(b) > 20 cm

(¢c) < 20 cm and between 20 ecm and 40 ¢m
(d) cannot say

8. A layered lens is made of two types of
transparent materials indicated by differeng
shades. A point object is placed on its axis. The
object will form

ect,

the

(b)
ad)

2 images
9 images

(a) 1 image
(c) 3 images

9. The refractive index of dense f{lint glass is
1.65 and for alcohol, it is 1.36 with respect to
air, then the refrartive index of the dense flint
glass with respect to alcohol is

(a) 1.31 (b) 1.21

(c) 1.11 (d) 1.01

10. Power of a convex lens of focal length 50 cm is
(a) —2D (b) —0.5D

(c) +2D (d) + 0.5 D

11. Given a point source of light, which of the
following can produce a parallel beam of light ?
(a) Concave lens

(b) Two plane mirrors inclined at 90° to each other
(e¢) Convex mirror

(d) Concave mirror

12. A person standing in front of a mirror finds

his image larger than himself. This implies that
the mirror is

(a) concave

(b) cylindrical with bulging side outwards
(c) plane

(d) convex.

An object AB is placed in front of a convex
s at its focus as shown in figure.

a1
F

7=

<P

Which of the ray diagram below correctly depicts
the refraction through the lens L?

I by S

G )

F ——__

A
B

A

A
Fv F

20. Which of the following correctly represents
graphical relation between sine of a?gle o?f
incidence (i) and sine of angle of refraction (r)?

v Y-

sinZ

(b)

sin?

sinr
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Speed of light

in vaccum
Speed of light in
a medium
R. Hga > Maw
(a) P-1, Q-2, R-3 (b) P-3,Q-2, R-1
() P-2, Q-3, R-1 d) P-2,Q-1, R-3
18. At what distance from a concave mirror
of focal length 12 ¢m must an object be placed
in order that an image double its size may be
obtained?

2. Snell’s law

Q.

8. M

‘a) Either 5 cm or 15 cm
‘bl Either 6 cm or 18 cm
‘) Either 12 em or 6 cm
‘4 12 em only

84

- and its aperture
22. Athinlens has focal length /. fintensity Z-

n image o

C

21.
a concave lens B
along the same ax
them. If a parallel beam
leaves B as a para
(in cm) will be

a)
c)

28. Aray o

:ho“'n in figure. The reflected ang ref
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sinr

Y ¥
o "‘»TJ\ : @ “Tg—;
sangs

sins
3 h 20 cm and
x lens A of focal lengt
e 1s of focal length 5 cm are kept
is with a distance d between
of light falling on A

llel beam, then the distance

15
50

(b)

25 «d)

30

flight from a denser medium .,
Sirike

medium at angle of incidence i
3

o - g ra
iameter d. It forms a e upto _ 3 angle of 90° with each “led
has dia 1 art of the apertur - rays make an _g S vt other T_-','

Jow. the central p aper. T s flection an on are r _
oo i locked by an opaque PaP angles ol reld . 3 T ang ,
diameter d/21s bloc intensity will change to The angle 7 is given by

focal length and image

~
(b) /'and I/4 ]
(a) f/2 and I/2 e g . i
(c) 3f/4 and 1/2 ( SR
23. With regard to refraction which o 1.
tatements is false. ) ) — —

(sa? It is a change in direction of hgh(;.. “12 Sden Den=: > 3

passes from one transp-arent m? iua

another of different optical density. s .
(b) Light is deviated away from the no;- =

when it enters an optically dense mediu .

from a less dense medium. ) I S
(¢) The velocity of light is changed during 8 o o

1 tion. ' ) : ) N

d) ;\?or?:f;action occurs at the boundary that 29. Two thin lenses of power, + 3.5 D and 25D
separates two media of equal refractive  are placed in contact, then the power and focal

indices.

24. How much time will light take to cross 2 mm
thick glass plane if refractive index of glass is
3/2?

(a) 10-15 g (b) 101 s

(¢) 1012 g (d) 3 <10 % s

25. A candle flame 3 cm high is placed at a
distance of 3 m from a wall. How far from the
wall must a concave mirror be placed in order
that it may form an image of the flame 9 cm high
on the wall ?

(aa) 450 cm (b) 150 ¢m

(c) 225 cm (d) 300 c¢m

26. The distance between object and the screen
is D. Real images of an object are formed on the
screen for two positions of a lens separated by
a distance d. The ratio between the sizes of two
images will be

(a) D/d (b) D?/a2

(D — d)?>/D + d)? «d) (D/a)

27. Select the incorrect statemen
t state
related to concave mirror. 3 ko

(c)

(a) Outer surface is coated wi
substance. TR o
(b) Inner surface is polished and thus reflectiv
ter It is known as converging mirror. <
td) It is used to observe the Prhenomenon i
refraction. °
il An ODJECL 1o pras——— e = wsasSvaunce or 10 ¢cm
foma convex mirror of focal length 15 cm. Find
image distance.
th:' A o (b) 1/6 cm
(ar —
I (d) —1/6 em

)
35. Find the focal length of a convex mirror
whose radius of curvature is 32 cm.

(@) _32 cm (b) 16 cm

(¢c) 64 cm (d) —16 cm

36. A concave mirror produces three times

magniﬁed real image of an object placed at
10 cm in front of it. The image distance is

(a) 30 cm (b) 10/3 cm

(¢c) —10/3 cm (d) —30 cm

37. Choose the wrong statement from the
following.

length of the lens combination is
(a) + 1D, + 100 cm
(¢) + 1D, + 200 cm

30. If an incident ray passes through the centre

(b) + 2D, + 150 cm
(d) + 2D, + 100cm

of curvature of spherical mirror, the reflected

ray will

(a) pass through the pole

(b) pass through the focus

(c) retrace its path

(d) be parallel to the principal axis.
31.

The Sun subtends an angle of half a degree
at the pole of a concave mirror which has a radius
of curvature of 15 m. Then the size (diameter’
of the image of the Sun formed by the concave
mirror is

(a) 3.5 cm (b) 13.1 cm

(c) 7.5 em (d) 6.5 cm

32. An object is placed at the centre nrcur\’u(ur:’
of a concave mirror. The distance between '
image and the pole is

(a) and 2/

equal to s (b) between / e
(c) equal to 27 (d) greater than 2f ’
‘333- s magnification 772 of an image fur““;h_

Y a spherical i - . eans.
5 mirror is egative. It M
Images is neg

:‘l:: ?maller than the object
arger t s
> erect,r han the object
(d) invase—.a
(a) When the obj i .
b Jject is kept at a dist
- to its radius of curvature S
) When object is ke 5T
. & Pt at a dist >
s el T ERE 1stance less than
(c) When object is placed between the focus and
centre of curvature.
(d) When' object is kept at a distance greater
than its radius of curvature.
42. Which of the following statements is true?
(a) A convex lens has 4 dioptre power having a
focal length 0.25 m.
(b) A convex lens has —4 dioptre power having
a focal length 0.25 m.
(c) A concave lens has 4 dioptre Power having
a focal length 0.25 m.
«d)

A concave lens has —4 dioptre power having
a focal length 0.25 m.
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(a) A convex mirror forms virtual images for all
positions of the object.

(b) A concave mirror forms real images for all
positions of the object.

(¢) A concave mirror, if suitably placed in front
of an object, can form a unity.

(d) The magnification produced by a convex
mirror is always less than unity.

38. Refractive index of diamond with respect to
glass is 1.6 and the absolute refractive index of
glass is 1.5, then the absolute refractive index
of diamond is

(a) 1.4 (b) 2.4

(c) 3.4 (d) 4.4

39. A point source of light is placed 4 m below
the surface of water of refractive index = 5/3.
The minimum diameter of a disc, which should
placed over the source, on the surface of water
to cut off all light coming out of water is

(Assume that to cut off all light sin i = 1/p)
‘a) 1.m (b) 4 m
(e) 3m

(d) 6 m

:?r i:‘l;-; refractive index of glass with respect to

Tespect . an,d _t.he refractive index of water with

with o to air is 4/3. The refractive index of glass
€spect to water will be

- 1.525 (b) 1.225

b 1.425 @ 1.125

Qo;‘cUndeP_\vhich of the following conditions, a
AVe mirror can form an image larger than

t
e actual Dbject?

86
. g3 (b 3.6 cIm
al _s)g cm ‘a, —8.3 cm
ic) —6.3 cm as== and from

i i 1
48. Refraction of light _from air :f))ind = e (i) -
air to water are shown 1niﬁgure i s r:a{uraction
The value of the angle 6 1n the case

as shown in figure (iii» will be

= Glass (ii)
@) Aur €0

(iii)

(a) 307 (b) 357
(c) 60~ (d) 417
49. A tree is 18.0 m away and 2.0 m high from

a concave lens. How high is the image formed

by the given lens of focal length 6 m?
(a) 1.0m (b) 1.5 m
(c) O.75 m (d) 0.50 m

50. Which of the following forms a virtual and
erect image for all positions of the object?

(a) Concave lens (b) Concave mirror

(c) Convex mirror (d) Both (a) and (c)

51. A convergent beam of light passes through
a diverging lens of focal length 0.2 m and comes
to focus 0.3 m behind the lens. The position of
the point at which the beam would converge in
the absence of the lens is

(a) 0.12 m (b) 0.6 m

(c) 0.3 m (d) O0.15 m

52. A convex lens is dipped in a liguid whose
refractive index is equal to the refractive index
of the lens. Then its focal length will

(a) become zero (b) become infinite

(c) become small, but non-zero

(d) remain unchanged

53. The refractive indices of four s

ubst
P, @, R and S are 1.50, 1.36, 1.77 andax;c;f
respectively. The speed of light is th axi .
in the substance cm PRy
(a) P (b))
fe) I d) S

54. The refractive indices of four -

A, B, C and D are 1.33, 1.43, 1.71";‘:":1'1313

respectively. When the light rays pass “:--5_2
N fro: air

43. Figure shows
a ray of light as it
travels from medium
A to medium B.
Refractive index
of the medium B
relative to medium

A is
(a) V3/2 (®d) J2/3
@ 12 @ 2

44. Which of the following can make a parallel
beam of light when light from a point source is
incident on it?

(a) Concave mirror as well as convex lens.

(b) Convex mirror as well as concave lens.

(c) Two plane mirrors placed at 90° to each other.
(d) Concave mirror as well as concave lens.

45. Refractive indices of water, sulphuric acid,
glass and carbon disulphide are 1.33, 1.43,1.53
and 1.63 respectively. The light travels slowest in

(a) sulphuric acid (b) glass
(c) water (d) carbon disulphide

46. What can be the largest distance of an image
of a real object from a convex mirror of radius
of curvature is 20 cm?
(a) 10 cm

(c) Infinity

47. An object 2 cm high i§ pl
16 cm from a concave mirror,
real image 3 cm high. What is the
of the mirror?

(b) 20 cm

(d) Zero

aced at a distance of
which produces a
focal length

s, they refract the o
tb)

into these material

material A material g

(tal
(c) material C ‘d) material p
55. VWhich of the following ray diagram.<;___
fox: the ray of light incident on a ler She. ™
figure- ¢
~V
/) A
\\
A —‘w 7 B. F=_{o] -
\/ AV
\
X—_\:___
C. 7 D. rNg/ 3
~
(a) Figure A (b) Figure B
(c) Figure C (d) Figure D
56. How will the image formed by a B

convex lens be affected if the upper
half of the lens is wrapped with a
black paper?

(a) The size of the image is reduced to one-hz

(b) The upper half of the image will be abssnt
(c) The brightness of the image is reduced.
(d) There will be no effect.
_57- -The optical perception for a pair of spect
is right eye : — 3.50 D: left eve : — 2.00 D. WT
of the following statements is correct? =
(a) Lens of power — 3.50 D is thinner at b
edges.
(b) Lens of power — 4.00 D has a greate’ o
length.
(c) Left eyve is weaker eve.
(d) None of these.
(53- If the power of lens is —2.0 D. Then
a) the focal length of lens is 50 cm. lens ki
_— be concave. st
:’he focal length of lens is —50 cm. €77 -
<> € convex._ s
c = WY
:.)he focal length of lens is —50 cm. 1€77 -
€ cConcave <
«d) ¥ = MU
jens

the focal 1
en h i 25 m.
be conca . gt of lens is 25 ©
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' doctor has prescribed a corrective lens of o
5. A . : 60. In torches, se i

ower +1.56 D. Tl_“'n' vehicles e S(..arch lights and headlights of
;) focal length is 66.7 cm. es the bulb is placed

; - lens: (a) betwe
) Jens is converging een the pole and th -
:;;i)lens is diverging lens. reflector ¢ focus of the
! length is 0.66 cm (b) v
i focal . ery near to the focus of the
Choose the c.f)rrect options fr(t'om the following. (c) between the focus and et
a i o o (b) () and Gii) i mie centre of curvature
@ (i) and (iv) (d) (i1) and (Gv) (d) =
at the centre of curvature of reflector

2) Case Based MCQs

case 1 : Read the passage given below and

answer the following questions from 61 to 65. . >p %"
The relation between distance of an object cF

from the mirror (), distance of image from the Figure C Figure D
mirror (v) and the focal length () is called mirror (a) Figure A (b) Figure B
formula. Hence, %4— % = % ) (¢) Figure C (d) Figure D
This formula is wvalid in all situations for all
spherical mirrors for all positions of the object.
The size of image formed by a spherical mirror
depends on the position of the object from the
mirror. The image formed by a spherical mirror
can be bigger than the object, equal to the object
or smaller than the object. The size of the image 64. The mirror formula holds for

relative to the object is given by the linear (a) concave mirror (b) convex mirror
frfagrliﬁcation (m). Thus, the magnification is (c) plane mirror (d) all of these

given by the ratio of height of image to the height g5 A parallel beam of light is made to fall on a

of object. If i ion i ive, i i
. magnification is negative, 1mage 18 . . .
gn E ’ g concave mirror. An image is formed at a distance

63. If the magnification of an image is —2, the
characteristic of image will be

(a) real and inverted

(b) virtual and enlarged

(c) wvirtual and inverted

(d) real and small.

;:al:;;]d lf_lt = posﬂafn?, image is virtual. of 7.5 from the mirror. The focal length of the

ob_%ect .at is the posntl?n of an image when an mirror is

Cﬂncavls p-laced at a distance of 20 cm from a (a) 15 cm (b) 7.5 cm

5 8 ce mirror of focal length 20 cm? (¢) 3.75 cm (d) 10 em

(c) 10m k) S0-6x0 Case II : Read the passage given below and
cm (d) infinity = )

62. Which ) answer the following questions from 66 to 70.
ek f‘c of the following ray diagrams 18 The refraction of light on going from one ey~
or the ray of light incident on a concave to another takes place e R

mirr(".
as sho i gu ; '
W, Bgnre? which are known as the laws of refraction of
light. These laws are :
c ; >P (i) The ratio of sine of angle of incidence to the
sine of angle of refraction is always constant for
% the pair of media in contact.
z P X
Figure sin? _ |, = constant
KRG Figure B sinr
88

Convex lens is made up of o "r;““:'“”"m '
|""“"]..¢| by two thc-ru:ul BUrfo e, "'r;, "

thicker at the middle and thinner ;4 'l...‘ t
- 13 . Concave lens i8 also made up of 4 Lray 4:.:.
speed of light 1n medium such that thicker at the cdge hr”" Pay,
at the middle. The mid-point of the len . ,‘},","

refractive index of the

This constant s called
ot mediam.

ith respect Lo the fNr

scecond medium w ' ;
.d as the ratio O

Refractive index is also delind
speed of light 1in vacuum to Lthe
meoedium.

(ii) The incident ray,
all lie in the same plane.

This law is called Snell’s law o
from air to glass,
angle of refraction
angle of refraction
angle of refraction

refracted ray and normal

optical centre.

A point on the principal axis, where th,.
f refraction. parallel rays meet or appears Lo come
refraction is called focus.

A convex lens converges a parallel beap, ki
to other side whereas concave lens Spreads ".,:.,

llu»‘,".

ouy ah.

66. When light travels
(a) angle of incidence
(b) angle of incidence
(¢) angle of incidence =

>
<
71. A ray passing through which part of |,
emerges undeviated ? e

(d) can’t say
-- PR . (a) Focus
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o medium, the

67. When light travels from air t .
e of refraction

angle of incidence is 45° and angl .
is 30°. The refractive index of second medium

with respect to the first medium is

(a) 1.41 (b) 1.50

(c) 1.23 d) 1

68. In which medium, the speed of light is
minimum?
(a) Air

(c) Water
69. Ifthe refractive index of glass is 1.5 and speed
of light in air is 3 x 10% m/s. The speed of light in
glass is

(a) 2 x 108 m/s
(c) 4.5 %< 10% m/s

(b) Glass
(d) Diamond

(b) 2.9 x 108% m/s

(d) 3 x 108 m/s

70. Refractive index of a with respect to & is 2.
Find the refractive index of b with respect to a.

(a) 0.4 (b) 0.5
(c) 0.25 (d) 2.
Case III :

Read the passage given below and
answer the following questions from 71 to 75.
A lens is a piece of any transparent material
bounded by two curved surfaces. There are two
types of lenses : convex lens and concave lens

Inner part
is concave

v : Read the passage given below and

&€ : s
s er the following questions from 76 to 80
nawt ¢ :
J"h n the rays of light travels from one
: psparent medium to another, the path of light
gransre

T eviated. This phenomena is called refraction
x*' light. The bending of light depends on the
.,;,1l£&|l density of medium through which the

light pass:

Denser

Rarer

Donser Rarer

The speed of light varies from medium to medium.
A medium in which the speed of light is more is
optically rarer medium whereas in which the
speed of light is less is optically denser medium.
Whenever light goes from one medium to another,
the frequency of light does not change however,
speed and wavelength change. It concluded that
change in speed of light is the basic cause of
refraction.

TUTORIAL

Nex s

(b)
(c)
(d)
72. Which type of lenes are shown in give
figure (i) and (i1)?

Centre of curvature

Optical centre
Between focus and centre of curvature

(i) (ii)
(a) Plano concave, concavo convex
(b)
(c)

(d)

73. A small bulb is placed at the focal point of2
converging lens. When the bulb is switched &
the lens produces

(a) a convergent beam of light

(b) a divergent beam of light

(¢) a parallel beam of light

(d) a patch of coloured light. >
74. The part of lens through which the refract™
takes place is called
(a) aperture

(¢) principal axis
75.
(a)
(b)
(c)
(d)

Plano convex, convexo concave
Double concave, concave convex
Convexo concave, double convex

-aturt
(b) centre of curv?

(d) focus
A water drop acts as a
convex lens

concave lens

double concave lens

Nnone of these

80. The bottom of pool filled w

ith water appears
to be

due to refraction of hight
ta) shallower

at same depth

Case V : Read the passage given below and
answer the following questions from 81 to 85.
The relationship between the distance of object
from the lens (1), distance of image from the lens
(v) and the focal length (/) of the lens is called
1 1

(b) deeper

tc) (d

empty

. 1
lens formula. It can be written as — = .
/ ] I

The size of image formed by a lens depends on
the position of the object from the lens. A lens of
short focal length has more power whereas a lens
of long focal length has less power. When the lens
1s convex, the power is positive and for concave
lens, the power is negative.

The magnification produced by a lens is the ratio
of height of image to the height of object as the
size of the image relative to the object is given by
linear magnification (m).

When, m is negative, image formed is real and
when m is positive, image formed is virtual. If
m < 1, size of image is smaller than the object. If
m > 1, size of image is larger than the object.
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76. When light travels from air to glass, the ray
of light bends

faj
(b)
fc)
d)

77. A ray of light passes from a medium A
to another medium B. No bending of light occurs

towards the normal
away from normal
anywhere

none of these

if
L (b) i = 60°
) i<r (d) 7 >r

78. . )
i When light passes from one medium to
= m‘_he“, the frequency of light
,c;‘ CoCaNaEe (b) decreases
79 (d) mone of these

= en light passes from glass to water, the

Speed of light
‘a)y

by
S
d)

Temains same

Increases
deCreases
Temains same

n -
TSt increases then decrease

20

3) Assertion & Reason

mbers 86-100.

the tollo  EROIEE i regson IS COMeC

ing Bas
For question nu
nswe! ot

Both assertion and f

y and reason

N
aoul

(al

(b) Both asserix i
(c) Assertion is true. but rea
(d) Assernon s false, but i
- carth
i s . to reach Ear
86. Assertion : Light 1= able

from the Sun

ayvs vel in vaccum.
Reason : Laight rays AV

can trs
of a

all

of converging

87. Assertion : Property :
same 1n

convergent lens does not remain
media. o
Reason : Property of lens whether the ray 1s
diverging or converging is independent of the

surrounding medium.

-~ .
88. Assertion : We can " £ ] . 5
decide the nature of a -
mirror by observing the "
size of erect image in P | 1

Convex murror Concave musror

the mirror.

Reason : The minimum distance between a real

ERTIEDUIAS « & 51 SEEsssssss wmmsme w—-— -

object and its real image in a concave mirror is
non zero.

89. Assertion : A convex lens is made of two
different materials. A point object is placed on
the principal axis. The number of images formed
by the lens will be two.

Reason : The image formed by convex lens is
always virtual.

90. Assertion : In diffused reflection, a parallel

beam of incident light is reflected in different
direction.

Reason : The diffused reflection of light is due
the failure of the laws of reflection.,

91. Fhe image of a virtunl object
formed by o thin converging le

to

Assertion :

ns s always real.
Reason : In the case of n thin lens, E

e 7
© mirror,
n real object

= v
92. Assertion : In the case of concawv
the minimum distance betwee

its real image 1s zero and

Reason : If concave mirror forms virt
uz

of real object, the image 1s magnified al IMmagre

TUTORIAL

81. An object 4 cm in height is placed at a
distance of 10 cm from a convex lens of focal
length 20 cm. The position of image is

(a) — 20 cm (b) 20 cm

(c) —10 cm (d) 10 em

82. In the above gquestion, the size of image is
(a) 16 cm (b) 8 cm

(c) 4 cm (d) 2 cm

83. An object is placed 50 cm from a concave

lens and produces a virtual image at a distance
of 10 em infront of lens. The focal length of lens is
(a) —25 cm (b) —12.5 cm

(c) 12.5 cm (d) 10 cm

84. A convex lens forms an image of magnification
—2 of the height of image is 6 cm, the height of
object is

(a) 6 cm (b)) 4 cm
(c) 3 cm (d) 2 cm
85. A concave lens of focal length 5 ecm. the
power of lens as
(n) 20 D (b)) —20 D
(c)» 90 D «dy —5 D
exp i - of I} -
. =rt -~

a3 Assertion : The size of the mirror
image.

mirrors

nature of the
Reason : Small
virtual images

do

not alwgy.

ga. Assertion: wWhen a ray of light travel

ater it bends towards the norm

air into w
denser than air

Reason : Water 1s optically
95. Assertion : Convex lens is a convers

lens.
Reason : Convex lens converges the rays of

falling on 1t.

96. Assertion : The radius of curvature

mirror is double of the focal length

Reason : A concave mirror of focal length fin
- h z 3. T

is used in a medium of refrac

ve i1nde
L

the focal length of mirror in medium becomes I

97. Assertion : The illuminance of an 1mi

produced by a convex lens is greater in'!
middle and less towards the edges

Reason : The middle part of 1m
undeflected ravs outer part by inclined rays

98. Assertion : When a concave mirror i1
under water, its focal length will increass
Reason : The focal length of a concave mirm™

depends on the medium in which it is place

(&%

99. Assertion : If o ray of light s incident

conve hes
nvex mirror along its principal axi=. 9
angle .
f."-lt of incidence as well ns the angle
or ay g :
aray of light will be zero

Re .
mBon A ray of hght going tow:

of cury
al rvature of a convex mirror 1=
ong the same path .

of refies

yrds the cet

1-Y1|\I|~!!

100 Asge -

- rtion : 8 _ - onof 8

has no unit Lanear magnificatior

I‘(‘alu - ; ot

h!vluh:n : The ratio of height of the i age ‘ #
of the object is the lineoar magntfe

p")(luc..d by = —



